(205) 759-5420

/ N\
Metro Metals METRO

5424 Metro Park Dr-Tuscaloosa, AL 35405 METALS

Metro Rib Panel

yr

- 36"

- 3|_0u -

N

3/4"

29 Ga Galvalume Plus
29 Ga Painted Siliconized Polyester-16 Colors
26 Ga Painted Siliconized Polyester-15 Colors
26 Ga Galvalume Plus

Minimum Slope 3:12

Please note that the drawings in this booklet are for illustration purposes only and may not apply to all buildings and installations.




MANUFACTURERS RECOMMENDED METAL ROOFING
FASTENING GUIDE FOR METRO RIB PANEL

5424 METRO PARK DRIVE ~ F: (205)345-0639
TUSCALOOSA, AL. 35405 WWW.METRO-METALS.COM

M ET A L S P: (206)759-5420 ANNA@METRO-METALS.COM
J WITH <35' MEAN ROOF HEIGHT-3/12 TO 7/12 PITCH L
FASTENING SCHEDULE
FOR FASTNER ROW SPACING
WIND SPEED ZONE
90 100 110
TYPE PLACEMENT FASTNER ON CENTER| TRIM |ON CENTER| TRIM ON CENTER| TRIM
SIZE SPACING |AREAS SPACING |AREAS SPACING |AREAS
ZONE WOOD GRIP| ") " " " " " "
) 00D G woop  |#10x1-1/2"| 30 9 30 6 24 6
16 AND 18 o
METAL FasT| GA STEEL |#12x1-1/4 " " " " " "
STITCH 30 9 30 6 24 6
20 GA "
2088 | #1ax7/8
eoomew | woop | g1ox1-1/2" 30" 9" 24" | 6" 120 | e
ZONE
283 16 AND 18 N
METAL FAST #12x1-1/4
stten | A STEEL 30" 9" 24" | 6" 12" | 6"
20 GA #14x7/8"
\ STEEL
TRIM AREAS REFER TO THE FASTNERS FOR THE RIDGE, HIP AND RAKE TRIM.
V™ / ™\ /\ /\. VAN

| I I | | I | |
FASTENER PLACEMENT FOR EAVES AND ENDLAPS

FASTENER PLACEMENT FOR INTERMEDIATE ROWS

2 2 2 2 28

FASTENER PLACEMENT FOR RIDGE
ALTERNATE FASTENER PLACEMENT FOR INTERMEDIATE ROWS

ZONE 2

EAVE GABLE RIDGE—/° ° ° ° o

[ X

° ° ° ————

ZONE 1 FASTENER ROW

SPATNG

\ \
RIDGE

I
-
§ \ —I_
_‘_
| N

AL o ° ° o

ZONE 3

WIDTH OF EDGE STRIP "x" IS THE SMALLER OF
1. 10% OF LEAST HORIZONTAL DIMENSION OF BUILDING. of [0/l /o] o[/l /o] o[/l Jo] [/l |J——EAVE
2. 40% OF EAVE HEIGHT BUT NOT LESS THAN:

1) 4% OF LEAST HORIZONTAL DIMENSION OF BUILDING

2) THREE FEET

Please note that the drawings in this booklet are for illustration purposes only and may not apply to all buildings and installations.




Metro Metals AN
Metro Rib Standard Trim (205) 759-5420 METRO

METALS

N\ N\ N\ A\ /™ 5424 Metro Park Dr-Tuscaloosa, AL 35405

Trim Item | Gauge Finish

T Metro Rib 26 Acrylic Coated
Highside Galvalume
41/2"
F
\/ Siliconized
Polyester
\H\ 7
/2

Metro Rib 26 Acrylic Coated

4" 7 Sidewall Galvalume
Siliconized

:]—H—f 1/2
I Polyester

Metro Rib 26 Acrylic Coated
Eave Galvalume

Siliconized
Polyester

Metro Rib 26 Acrylic Coated

Outside Galvalume
Corner
Siliconized
Polyester
34" o -
T - % .
1 B Metro Rib 26 Acrylic Coated
. ) Hang on Galvalume
N Gutter
- 7
N Siliconized
[$0)
\;D Polyester
f— 4" —f

Please note that the drawings in this booklet are for illustration purposes only and may not apply to all buildings and installations.




Metro Metals
Metro Rib Standard Trim

(205) 759-5420

/\\
METRO

METALS
N\ N\ N\ N\ /™ 5424 Metro Park Dr-Tuscaloosa, AL 35405
Trim Item | Gauge Finish
#\ Metro Rib 26 Acrylic Coated
/'\ 212" ez 20" Ridge Galvalume
71/2"
Y/ Siliconized
Polyester
Vou | L y
y/\ 7 Metro Rib 26 Acrylic Coated
21/2" 14" Ridge Galvalume
. T~
I\
T 1 Siliconized
S N /\ Polyester
-~ Metro Rib 26 Acrylic Coated
L\\/\i(/// Valley Galvalume
9 3/gn Siliconized
\/ Polyester
Metro Rib 26 Acrylic Coated
Transition Galvalume
/~\ e—51/2" —=
5"\/ e = 1/ Siliconized
Polyester
Metro Rib 26 Acrylic Coated
J-Channel Galvalume
& \_’I Yy
[a\}
m I—j Siliconized
718" Polyester

Please note that the drawings in this booklet are for illustration purposes only and may not apply to all buildings and installations.




Metro Metals (205) 759-5420 m
Tr| m D eta| IS 5424 Metro Park Dr-Tuscaloosa, AL 35405 METALS

METRO RIB HIGHSIDE DETAIL

Siding
Pancake Head Woodscrew
_jl\ Highside (Roof to Wall)
Woodscrew @ 9" O.C.
utside Closure
etro-Rib Panel
Moisture Barrier

METRO RIB SIDEWALL DETAIL

Siding

Pancake Head Woodscrew
@ 24" O.C.

Sidewall

Woodscrew @ 8" O.C.
Tape Mastic 1/2"
Metro-Rib Panel

Moisture Barrier

Please note that the drawings in this booklet are for illustration purposes only and may not apply to all buildings and installations.



Metro Metals (205) 759-5420 fiETRO
Tr| m D etal | S 5424 Metro Park Dr-Tuscaloosa, AL 35405 METALS

METRO RIB EAVE

Woodscrew (one each side of rib)
Inside Closure
Moisture Barrier
Metro-Rib Panel
Eave Trim

METRO RIB OUTSIDE CORNER

Outside Corner
Woodscrew @ 8" O.C.
Tape Mastic
Metro-Rib Panel
Moisture Barrier

@ 12" O.C.

Please note that the drawings in this booklet are for illustration purposes only and may not apply to all buildings and installations.



Metro Metals (205) 759-5420 ﬁ'
T rl m D eta| | S 5424 Metro Park Dr-Tuscaloosa, AL 35405 METALS

METRO RIB J-CHANNEL

Metro-Rib Panel
—»,J[F ‘/Woodscrew

! / Pancake Head Woodscrew
it J-Channel

Hang on Gutter

Metro-Rib Panel
Woodscrew (One on Each Side of Rib)
Stitch Screw (One on Each Hanger)

Gutter Hanger @ 3' O.C.
Pop Rivet (One on Each Hanger)
Hang on Gutter

N ———

Please note that the drawings in this booklet are for illustration purposes only and may not apply to all buildings and installations.




Metro Metals (205) 759-5420 m
Tr| m D etal | S 5424 Metro Park Dr-Tuscaloosa, AL 35405 METALS

METRO RIB 10X10 RIDGE - NON VENTED

20" Ridge Cap
Moisture Barrier
etro-Rib Panel

Woodscrew 9" O.C.
QOutside Closure

L7

METRO RIB 7X7 RIDGE - NON VENTED

14" Ridge Cap
Moisture Barrier
Woodscrew 9" O.C.
Outside Closure
Metro-Rib Panel

L7

Please note that the drawings in this booklet are for illustration purposes only and may not apply to all buildings and installations.



Metro Metals (205) 759-5420 &E}]
Tr| m D etal | S 5424 Metro Park Dr-Tuscaloosa, AL 35405 MEI!TALS

METRO RIB 10X10 RIDGE - VENTED

20" Ridge Cap
Moisture Barrier
etro-Rib Panel
Woodscrew @ 9"0.C
Vented Closure

L7

METRO RIB 7X7 RIDGE - VENTED

14" Ridge Cap
Moisture Barrier
Woodscrew

@ 9" O.C.
Vented Closure
Metro-Rib Panel

L7

Please note that the drawings in this booklet are for illustration purposes only and may not apply to all buildings and installations.




Metro Metals (205) 759-5420 ﬁ%
Tr| m D etal | S 5424 Metro Park Dr-Tuscaloosa, AL 35405 METALS

METRO RIB VALLEY

Valley
Moisture Barrier

Metro-Rib Panel

Woodscrew
(one on each side of rib)

Tape Mastic 2 1/2"

L7

METRO RIB TRANSITION

Inside Closure
Transition
Woodscrew @ 9" O.C.

Outside Closure
Metro-Rib Panel
Moisture Barrier

L7

Please note that the drawings in this booklet are for illustration purposes only and may not apply to all buildings and installations.




Metro Metals

(205) 759-5420

/\\
METRO

' METALS
Accesso rl es 5424 Metro Park Dr-Tuscaloosa, AL 35405
Skylights Material Length Color
Metro Rib Panel Polycarbonate| 10'-0" Clear, White
! 3'-0" !
o . MW ]I[ \W\\
Fo
. 50 . R-Panel Fiberglass 12'-0" | White
12" — | 4 Polycarbonate| 120" | Clear, White
K]
X
Pipe Flashing Part # Pipe Diameter Part # Pipe Diameter
#1 .25" t0 2.375" #6 5"to 9"
#2 1.75" to 3.25" #7 6" to 10.5"
=) #3 25" 10 5" #8 7" 10 13"
/ A /- #4 3"10 6.25" #9 10" to 19"
#5 4.25"to 7.5"
Pipe Flashing with Zipper Part # Pipe Diameter
#801 .75" 10 2.75"
#802 2" to 7.25"
#803 3.25" to 10"
Butyl Tape Width Length Thickness
21/2" 20' 3/16"
7/8" 25' 3/16"
1/2" 30' 3/16"
3/8" 45' 3/32"
Sealant Size Color
m 100z tube Clear, White, Gray, Med. Bronze
Closures Metro Rib R-Panel
Metro Rib Panel R-Panel Outside (solid) Outside (solid)
Inside (solid) Inside (solid)
Qutside (vented) Qutside (vented)
Wood Screws | Size
9x1" 1/4" head with bonded neoprene washer
E 9x1.5" 1/4" head with bonded neoprene washer
9x2" 1/4" head with bonded neoprene washer
8x1" pancake head without washer
Metal Screws
12x1.25" 5/16" head with bonded neoprene washer
g ‘E’ 14x7/8" 5/16" head with bonded neoprene washer
8x1" pancake head without washer
8x1/2" pancake head without washer

Please note that the drawings in this booklet are for illustration purposes only and may not apply to all buildings and installations.




	metro-rib cover page #3
	Fastening Guide page #4
	metro metals standard trim mr page #5
	metro metals standard trim mr page #6
	metro rib highside and sidewall page #7
	metro rib eave and outside corner detail page #8
	metro rib j-channel and box gutter detail page #9
	metro rib ridge non vented detail page #10
	metro rib ridge vented detail page #11
	metro rib valley and transition detail page #12
	metro metals Accessories page #29

